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Who is the current Chairperson of SEBI

(Securities and Exchange Board of India)?
(A) AjayTyagi

(B) Tuhin Kanta Pandey

(©) AU.K. Sinha

(D) Subhash Khuntia

Which is the first state in India to implement
Uniform Civil Code (UCC)?

(A) Goa

(B) Uttarakhand

(C) Gujarat

(D) Himachal Pradesh

India signed a defense pact with which country
in July 2025?

(A) France

(B) Russia

(C) Israel

(D) USA

A car travels 90 km in 1.5 hours. What is its
speed in km/h?

(A) 50km/h

(B) 60km/h

(C) 75km/h

(D) 90km/h
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5.

Ifthere isa 10% loss on selling an article for

Rs. 450, what is the cost price?

(A) 500

(B) %460

(C) 480

(D) %490

If COLD is coded as DPME, how will HEAT
be coded?

(A) IDBU

(B) IFBU

(C) 1IGCV

(D) JIDAV

Pointing to a man, Meena said, "He is the son

of my grandfather’s only son." Who is the man

to Meena?
(A) Uncle
(B) Cousin
(C) Brother

(D) Nephew

What comesnext: Z, X, V.T,.......2 -
A) Q
(B) P
€ S,

(D) R
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11.

Five people—A, B, C, D and E —are sitting in
arow. B is to the immediate right of D. C is at
the extreme left. A is to the immediate lefi of E.

Who is sitting in the middle?
(A) D
B) A
(C) B

(D) E

The bar graph shows the number of students in

3 years.

Year  Students

2022 120 5
2023 150

2024 180

What is the average number of students over 3

years?

(A) 150

(B) 140

@y 120 -

(D) 155

Ram walks 10 m north, then turns right and

walks 5 m. Then turns right again and walks 10

m. In which direction is he facing now?
(A) North

(B) South

(C) East

(D) West
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15.

Which Indian space mission achieved successful
re-entry test of the Gaganyaan Crew Module
in2024?

(A) Gaganyaan TV-DI

(B) Chandrayaan-3

- (C) AdityaLl

(D) TV-D2

India's first Al-focused university will be set up
in which state?

(A) Karnataka

(B) Maharashtra

(C) Telangana

(D) Tamil Nadu

Select the synonym of "Conceal" :
(A) Reveal

(B) Hide

(C) Open

(D) Show

Select the antonym of "Generous™ :
(A) Mean

(B) Kind

(C) Helpful

(D) Noble

. Choose the correct tense:

She in London since 2018.
(A) isliving

(B) lived

(C) hasbeen living

(D) lives
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(A) Reveal
(B) Hide

(C) Open
(D) Show

. Select the antonym of "Generous" :

(A) Mean
(B) Kind

(C) Helpful
(D) Noble

Choose the correct tense:
She

in London since 2018.
(A) isliving

(B) lived

(C) hasbeen living

(D) lives
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(B) &R a®
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(D) HEEES

20. Who invented Email?
(A) Tim Berners-Lee
(B) Charles Babbage
(C) RayTomlinson

(D) BillGates -

21. Whatis the main function of a hard disk?
(A) Collecting data
(B) Performing calculations
(C) Givinginput

(D) Showingoutput
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24,

25

What is "Transition" used for in PowerPoint?
(A) Editing text
(B) Adding effects between slides

(C) Adjusting audio

. (D) Changing the format

Full form of ALU is:

(A) Arithmetic List Unit
(B) Advanced Logic Unit
(C) Array Logic Utility

(D) Arithmetic Logical Unit

Full form of CD-ROM is:

(A) Compact Disc —Read On Memory

(B) Compact Disc —Read Only Memory

(C) Control Disc—Read Only Memory

(D) Computer Disc — Random Operating
Memory ‘

What is the full form of DNS?

(A)- Digital Network Service

(B) Data Node Server

(C) Domain Network Server

(D) Domain Name System
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26. The rRNA is synthesized by :
(A) Golgibody
(B) Nucleolus
(@) Cytoplasm

(D) Nucleus

. 27. Who proposed the Fluid Mosaic Model of

plasma membrane?

(A) Danielliand Davson

(B) Robertson and Danielli

(C) S.J.Singerand G.L.Nicolson -~

(D) Robert Whittaker and G.L. Nicolson

28. Gene mutation occurs at the time of :
(A) DNA repair
(B) DNA replication
(C) RNA transcription

(D) Celldivision

29. CAP full formis:
(A) Catabolite Activator Protein
(B) Catabolite Act Protein
(C) Catabol Activator Protein

(D) Catabol Act Protein

301 Kappa Particles indicate :
(A) Nuclear inheritance
(B) Cytoplasmic inheritance
(C) Mutation

(D) Nucleo-cytoplasmic inheritance
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31.

33.
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What is the basic unit of heredity?
(A) Gene

(B) Genome

(C) DNA

(D) Alleles

. Who conducted hybridization experiments on

tobacco prior to Gregor Mendel ?
(A) Knightand Goss

(B) Gregor Mendel

(C) J.Kolreuter

(D) Charles Darwin

Where does eukaryotic translation take place?
(A) Nucleus

(B) Mitochondria

(C) Cytoplasm

(D) Endoplasmic reticulum

What is the primary product of the conversion

of PGA in chloroplasts during photosynthesis?

(A) Oxygen
(B) Glucose
(C) Starch

(D) PGA
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35. Which elements are absent in the vascular system

36.

38.

in Pteridophyta ?

(A) Companion cell and Vessel
{B) Vessels and Tracheids

(C) Tracheids and Parenchyma

(D) Companion cell and Tracheids

Polystelic stem is found in :
(A) Psilotum

(B) Selaginella

(C) Equisetum

(D) Marsilea

. The smallest Gymnosperm is :

(A) Cycas
(B) Ephedra
(C) Zamia

(D) Ginkgo

For the first time who used the term algae?
(A) Smith

(B) Linnaeus

(C) Turner

(D) Fritsch
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40.

42.
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Gongrosira stage is found in :
(A) Chara

(B) Vaucharia

(C) Ectocarpus

(D) Coleocheate

Which plant group is called as amphibians of

plantkingdom ?
(A) Bryophyta
(B) Gymnosperm
(C) Pteridophyta

(D) Angiosperm

. Bentham and Hooker's system of classification

is:

(A) Artificial

(B) Natural

(©) Phylogenetié

(D) None

Which plants anther lobe has stomata present
init?

(A) Arceuthobium

(B) Alangium

(C) Anona

(D) Musa
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43.

44.

45.

46.

Function of suspensor is :
(A) To give nutrition
(B) Togive oxygen

(C) To give nutrition by pushing embryo

towards endosperm

(D) To absorb food

The World Forest Day is celebrated on :
(A) 6 October

(B) 5 September

(C) 5June

(D) 21 March

Who wrote Vriksha Ayurveda?
(A) Parashar

(B) Charak

(C) Dhanwantari

(D) None

Source for protoplast isolation is :
(A) Leaf

(B) Petal

(C) Hypocotyl

(D) Al
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48.

49,

50.
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Which pigment is most effective in

photosynthesis ?
(A) Carotene
(B) Chlorophyll-a
(C) Xanthophyll

(D) Anthocyanin

C4 plants are more efficient in :
(A) Water storage

(B) CO, Fixation

(C) Respiration

(D) Seed production

Which is a non-leguminous nitrogen fixing
plant?

(A) Pea

(B) Soyabean

(C) Casuarina

(D) Gram

The periderm replace which tissue in mature

plants?

- (A) Xylem

(B) Epidermis
(C ) Phloem

(D) Cambium
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